B A=At +25n e o2 An? +25n=k" > Bln>10 BgE >4n® emk>2n -

Ak=dn+a EFa>0 BlE4n® +25n=2n+a) B’ =(25-4a)-n > HLIF

25—4a>0 > #1<a<beFa=6n=36; €a=5>n=5
Z i ERER L ERBERT

X

1

____Ji’.z% v #(kk k) ke ZBFER -

_ 0.5%0.99 _495 _ 99 s
T 05x099+99.5x0.01 1490 298

n2

™ T REH AL ) ERY

4
EEEx+yfox-yERENTEE AU

2 N2
IS 1.5 e b WY

n EVven

-n odd

4

%4 04=0B=0C=R

. OA4 OB OC _AOBC AOAC , AOAB _,
' 44, BB, CC, A4BC AABC ACAB

._O4 OB __0OCG _,

"0O4+R OB +R OC;+R

R R R

o + + =2

OA4+R OB +R OC +R

g % R_,_ R __R (OA1+R+081+R+OCI+R]29
04, +R OB +R OC,+R)\ R R R



2[3+ 04, +O§l + OCIJ 59

04 +0B +0C, 2—R

b fw





